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PQ HUNT

1. reads

2. written

3. have known

4. you been waiting

5. belongs

6. has

7. goes

8. have just cleaned

9. since

10. for

11. get up

12. has been working

13. is doing

14. have been living

15. is raining

16. think

17. revolves

18. goes

19. goes

20. writes

Check your ability

1. does

2. freezes

3. is sleeping

4. is raining

5. have been waiting

6. has been raining

7. have left

8. have vacated

9. causes

10. walk

Use since or for

1. for

2. since

3. for

4. for

5. since

6. since

PQ HUNT

1) 75

am  
=  am-n

                     an
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12-7    
= 75

                   77           77

2. 1016

108   = 108+8

10-8

    =1016

KWnXw efnXw ˛ 7

3. 1

am ´ an  = am+n

32 ´ 33  = 35

   35   
 =1

                         35

4. 71

      

  =

  25  ´32 - 22

            22  ´ 20

     = 22 (23  ´ 32 - 1)

 22  ´ 1

      = 23  ´ 32 -1

                           = 8  ´ 9-1

                           = 71



5. 6

 (4)3   =   (2)p

  (22)3 =   2p

 26   =   2p

                       p   =   6

6. 3

(0.2)x  = 0.008                  0.008 = (0.2)3

   x  = 3

7. 1

3-2 ´(-3)2  =
    1  ´ -3 ´-3

                                      32

                                 = 1/9 ´ 9

                                 = 1

8.   1

     28

21 ¸ 23 ¸ 23 ¸ 23   = 
        2

                                                   23 ´ 23 ´ 23

                                             =          2

                                                     23+3+3

                                            
 =

  21

                                                 29

                                              = 21-9

                                              = 2-8

                                              = 1

                                                  28

9. 249

    250

                     2

= 250-1

                 = 249

10.  -1

(-1) even no.   = 1

                  (-1) odd no       = -1

      (-1)99    = -1

11. 103

123   = 12 ´ 12 ´ 12

                            = 1728

                123 +13 = 1728 +1

                             = 1729

                    93+x  = 1729

                           x = 1729 -729

                              = 1000

                              = 103

12. 1

(x0)432   =  1

13. 900

102 +x  = 1000

                               x = 1000 -100

                                  = 900

14. 64

45 = 1024

            4n-2 = 43

                      = 64

15. 0

1+ -1  =  0

16. 10

(2p)2    = 220

                         22p = 220

                          2p = 20

                           p = 10

17. 215

216       
 =  2 16-1

 21

         = 215

18. 20

64 = 26

                    22´3 = 64

                       n = 3

            (2n+1 +4) = 24 +4

                          = 16+4

                          = 20

19. 10

(Ö 10)2 = Ö10 ´ Ö10

                             = 10

20) 7

x +1  = 3

                      x

               
 x2 +

 1 
=  32 -2

                      x2

                          = 9-2

                          = 7

4 1024

4 256

4 64

4 16

    4



21. 1

=  8x7   ¸ 2x4

    4x3

= 2x4  ´  1

         2x4

= 1

22.18

a1/3  = 3Öa

a
1/2 = Öa

(144)
1/2 + (216)

1/3   = Ö144 +3Ö216

                         = 12+6

                                              = 18

23. 3/2

Ö64 = 8

                            = 23

      23 = 4n

                       23 = 22n

                  2n = 3

                        n = 3/2

24. 8

  Ö3n = 81

3n = 81 ´ 81

    = 34 ´34

                         = 38

                      n = 8

25. 1/5

102y = 52

10y = 5

                 10-y = 1/5

26) 32

= 20+3+2

= 25

= 32

27. 1

(3-4 + 7)0 =1        (a0=1)

28. 1/3

92 ´272 ´3

                           12

                  = (32)2 ´ (33)2 ´3

                             312

       = 34 ´ 36 ´ 3

                         312

      = 34+6+1

                     312

=
 311

  
 312

= 3 11-12    =3-1

=1/3

29) 4 
1/

4

xx + yy = 22 + (-2)-2

=  22 + 
 1

                                 (-2)2

= 4 +
 1

                               4

                      = 4 
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30) 17

      16
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         = 1    3  -  1    4  -  -1
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                      8   16
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31.  1

32) 6

3x   =  729

                      3x  = 36

                        x  = 6

33) 439

440 ´ 1 = 440

                              4      4

                
=

  440

                    41

                =  440-1

                = 439

34. 411

45 ´ (43)2 = 45 ´ 46   =411



Are you Intelligent

1.   1

x3 y2

                x2 y
4/3   -3/2   =  x2´ -3/2  ´ y

4/3 ´-3/2

= x-3 ´ y-2

=     1

    x3 y2

2. 7/2

32 ´ 32 ´ 32 ´ 32  =  4 ´ 32

   = 22 ´ 25

   = 27

       ChnsS ,  27 = 4x

                                            27 = (22)x

                                            27 = 22x

                                            2x = 7

                                              x = 7/2

3. 1/38

(32)2 ´ (30)4

      (27)4

= 34 ´1    =   1

                      312            38
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8.    3

      25

            =   3 ´ 22 ´ 5-2 ´ 2-2

                     
 =  

 3´22

                          52 ´22

=
     3

                            25

4. 20050

an ´ bn = (ab)n

             100100 
=

 (2 ´50)100 
 = 

2100´ 50100

                        5050          5050                5050

           = 2100 ´50100 - 50

           = 250 ´ 250 ´5050

                                 = (2 ´ 2 ´ 50)50

                                 = 20050

5.  299

   2101 - 2100 - 299

= 299 (22 - 21 - 20)

= 299 ( 4 -2-1)

= 299´1      = 299

6. 518

[(am)n]
p 
 =  amnp

[(52)3]
3 
 =  5 2´3´3

 =  518

7.  x+y
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                     y2         
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´
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                             y2            x-y

 
=

   (x+y) (x-y)

                                 y(x-y)

                       
=

   x+y

                             y
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1. Ihbn{Xn

2. alXv +NcnXw

3. ]n]mk

4. Abbv°s∏S¬

5. D¿∆cw

6. GsdNpcp°pI

7. I¨aWn

8. DØa]pcpj≥

9. FgpØ—≥

10. sNdpt»cn

11. ]q¥m\w

12. ssh°w aplΩZv _jn¿

13. _memaWnbΩ

14. IpµeX

15. Ac\mgnIt\cw

16. N¥ptat\m≥

17. B\µv

18. ]n.Ip™\¥≥ \mb¿

19. CSt»cn

20. FkvsI.s]m‰°mSv

21. tIcf kmlnXy Ncn{Xw

22. k°dnb

23. DÆp\oen ktµiw

24. Ad_ns]m∂v

25. ssZhØns‚ hnIrXnIƒ

26. kwt£] thZm¿∞w

27. sshtem∏n≈n {io[ctat\m≥

28. C.hn IrjvW]n≈


